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Cluster: 0187 ptr; resid: 0.25; r/c: 25/80

x.range

upstream meme PSSM #1; e=2e+03

1 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.6e+05

1 3 5 7 9 11 131 3 5 7 9 11 13
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11145

3251

10293
10781 12044

15031

15863

25551

26853

32688

3377035473

41268 42690

43447

43673

44331

44645

45618

45822

46457

46485

46490

48996
8475

string −500 −400 −300 −200 −100 −1
43447−0.14
26853−0.15
41268−0.16
15863−0.16
46457−0.21
25551−0.22
43673−0.30
44645−0.35
11145−0.41
10781−0.79
45618−0.79
15031−0.85
12044−1.23
48996−2.85
33770−2.86
42690−3.10
32688−3.36

3251−3.53
10293−3.68

8475−3.87
46485−4.05
45822−4.10
46490−4.51
44331−4.62
35473−9.63

log10(P) upstream meme1 2 log10(P.clust)=−2.24; 25 seqs; 25 uniq
c(0.5, 2.5)
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